<« Math125 Test #2 (Chapter 9, 10) Name \f\\\x;u.(\ L'loJ‘S

Show all work neatly and systematically for full credit. Total points: 105 (3 points each, unless otherwise stated)

Solve. Write your solution in set builder notation or

Simplify by factoring. 2
interval notation. 3 4‘)
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Multiply. Assume that all variables represent nonnegative

real numbers.
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j Add or subtract, Simplify by combining like radical terms,
if possible. Assume all variables and radicands represent
p j 8 Kl j nonnegative numbers.
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Rationalize the denominator. Assume all variables
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Solve the inequality and write the solution in either set
builder notation or interval notation.
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Solve the inequality using the given graph.
9) Given the graph of f and g. write the solution
for the following,. .

I\

y

- 5-- -
. 4--
. 3--
. 2--

(). Solve for f(x) < g(x).
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(b). Solve f(x) = g(x).
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(©). Solve f(x) > g(x).

Add or subtract. Simplify by combining like radical terms,
if possible. Assume all variables and radicands represent
nonnegative numbers.
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Multiply. Assume that all variables represent nonnegative
real numbers.
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Multiply and simplify. Assume all variables represent
nonnegative real numbers. Write your answer in radical
notation.
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Solve. Wnte your solution in set bmld notann or
interval notation.
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Multiply. Assume that all variables represent nonnegative  Solve the inequality. Write the solution in either set

real numbers. \/KZ?I\ builder notation or interval notation.
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Rationalize the denominator. Assume all variables
represent positive numbers.
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Solve the inequality. Divide and, if possible, simplify. Assume all variables

20) Company A rents copiers for a monthly charge represent positive real numbers.

of $250 plus 10 cents per copy. Company B
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Write the domain of f In interval notation or interval
Yor rore than 560D CD? S notation.
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Solve the absolute-value mequahty rite the slution in

interval notation or set builder notation.
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Solve and write the solution in either set builder notation
or interval notation.
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Solve the equation.
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Simplify by taking the roots of the numerator and the

denominator. Assume all variables represent positive
numbers.
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Simplify. Assume that no radicands were formed by
raising negative numbers to even powers.
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Simplify by taking the roots of the numerator and the

denominator. Assume all variables represent positive
numbers.
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Multiply and simplify. Assume all variables represent (6) Solve.

nonnegative real numbers. Write your answer in radical 34)AfBx+1=3++fx -4
notation. 2 2
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Use rational exponents to simplify. Do not use fraction ~ ’

exponents in the final answer. Assume that even roots are X < 2R+ 27 9 (x~4)

of nonnegative quantities.
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Simplify. Assume that variables can represent any value. K
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